L3 D y = g Iy 22
AT A 7100 F BATERY AR LA
# Prx R fAB(RAY ~&2) (X 1#)
YREFEF:F 1880444
LoAflp #URr T35
2. AEALE AT (A3 1 %) -
G |3 AR I HE R R(T0A) P E BTN RT I Y RL L PRI
AT e TR B 15 A(H 30 A) 2 e HEAL 40 A(: 100 4) 0 ¢ B g
8 %if%;ii%%ﬁﬂwﬁ%ﬁggnzﬁg;gﬁgﬁgayﬁﬁ;zﬁ,zﬁ
L T A i -
: Uhet 5.5 5 RS SRS X S SR EL KA Sied 8 & L E
| jE o BEM K o e AT s g3 A 2 10 P uliet I UL R WAL T
S0 B e T HEAR QOA)S B AL AR A BA gl -
. AFARFR B B R 0 A LI~ ST e
6. T R TS > FAPLE RS (F A - & FERE W BT RFEFRE -
= > B~ 1 100%
- 0% [t TE& %, 1 i 2]
P AL
7} 5 ° ™
TTEEAIF RERERAD o
SN HEAL 0% [1541 FAE24 0 £ 04 e TERF LIS He g o ]

Log» Tags, o
(A)iig & ()
2. THEIE > R 2R F AR F e 3 E 7
(N‘ﬁﬁﬂﬁﬂ““w%’—%ﬁ&mﬁrgﬁgga
(B)x = iﬁ*iﬂA@\’Kwﬁéﬁ $k £ 43R
C)# &~ kiR f chi & > ke z x5 ivi ERAL P 1
®VTW%$%?“‘ﬁ€Mw%%¢ ’emrwmqﬁﬁ%&%@n

¥10

LEE ©) {f{(ﬂg &

)
> X

3.7
(A)"EE, ‘5N OFV (B) 44k |
C) Ti&Ed ; 1T AL N FALN (D) T it |

4 TAE S0 A sl 0 BE T > 4 E R 44y 0
(A)=2 PP % 2% B)FEt A+xxis C)BLILEZ>

PO WA
THALV

(D

5 TF F:E A .’a—*ﬁ% 2 Te&w, ?
(A F ek -k 2 5
C)= ] &d ok gpe
6.2 % 40 "M IA N E ¥
(NEEENE e (B)iE + - L AN
CF = +E 2t (D) & B E » 382 & ik
TEIIES s g T ALK R e s -
(A)C‘gﬂ“‘T:’H‘ SRR L Y B YEHE S FERY
BT - Lo Lif o FREG K
Cli-taft > BT A SR FHSH > BRBEY - L2 TFH > F 4
(D)= = W AgH 4 F o oiih o Gk H 1 FE

_,t,'pegip([z,\‘a]é SED)

(B)iF B ki % A4
(D) £ 5 Eb/Hav g

A RBEic o ."El:fﬁ .

#17

T EARE AT ’Tilliﬂilj’***“f%f( A& HT A L s 9
D) ## %

T ALYV

VFER A A B M2 i

ZRN e

(37 g ivg ]



B35 3 VA L TSI ELAERY o P I ?
(A)T&5 | @ 4% hpf (B) "5 jiy + 23 ehivgf
©) "##, &3 hi g (D) "ifse | @ % ik AL

9. F A% ﬂJ/}Ef = hRF o R Y o R Fl—‘lﬁ‘?

(A)hfez R —4re  (B)g2zi —F2 CEHTEzA—%F (DO)2fp2i —*A
10. 3% Zoc: T332 8- ) R4p

A2+ B g pid  af g B

B)2+# HBx 3 > A AR EFNIHE L

O+ 72 4 Bx X3 - Ten* g @ FE VG 2 B3

D)yt Fmizgw > NEEF2Z > 3§ B KFEd &

175 T poend o 3 dn e i ?
A TELEE/ PR TE R (@pﬁ% R,/ Ty TR
@ﬁiﬁrﬁjﬁ//.@r%qﬁ @ﬁmr W, T A
12 TgOxs~[Hp - Q2 &, » 25 Téﬁ*% enF kB A
AF v+ B)F ~#H -4 (@ T E OMf ~we~ £
13. T 5| efies raiﬂ Lg 9
(A)F© diens 3 — h 4 (B)Z fiis + chn ¥ —F &1
(Qﬁéﬁwii—iz (D)fi-# A 535 — £
14, TOOCI& > e B4 > @503 R L0
(A = (B)i% = (C)ms = (D) =

15. rm&n%%}\:”‘:ﬁﬁﬂeﬁ?g;m\iﬁii ;}Flﬁf—;‘
BEDJ.:LLvﬁA%b AT HTRE= | 07
(A)‘i\‘r%‘v ~ AL (B)g\ﬁb\\‘;‘\‘g—} (C)ﬁb\

o~ &~ 1 100%

[HiE42: 4048 54254 > £ 1004 ;o T8 %+, 3 16-55% 17 % o ]

: L“Ff,Ji‘cf_' 7 E S mE T

i~ vk D)t ~m K~ F

16. The final stage of preparation involves ___the paint onto the steel.

(A) bake (B) bakes (C) baking (D) baked
17. I think she should __ the presentation.

(A) enjoy (B) enjoys (C) enjoying (D) enjoyed
18. Sandra is participating ____ Saturday’s activity.

(A) of (B) to (©)in (D) too
19. New procedures are needed ___ pollution.

(A) control (B) controls (C) controlling (D) to control
20. The investments pay him monthly

(A) interest (B) interests (C) interesting (D) interested
21.Theydon’thave _ much, .

(A) too; either (B) too; neither (C) to; either (D) to; neither
22. She often wishes she ___ wealthier.

(A)is (B) are (C) was (D) were
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23. The local population felt that we were overly ___ of their concerns.
(A) dismiss (B) dismissing (C) dismissive (D) dismissed

24.Janet by the job and asked for more information.
(A) had intrigued (B) was intrigued (C) had to intrigue (D) was intriguing

25. The company needs to work out an alternative ____ arrangement with its creditors.

(A) finance (B) finances (C) financial (D) financed
26. If | knew of a contractor, | ___ one to you.

(A) recommends (B) is recommending (C) had recommended (D) would recommend
27. __ bagsbelongto .

(A) That; they (B) That; them (C) Those; there (D) Those; them
28. These paintings must be carefully guarded because they are __ works of art.

(A) priceless (B) to price (C) pricing (D) priced
29. The area is known ____its cactus products.

(A)in (B) of (C) for (D) our
30. The research is well ___in the academic community.

(A) respects (B) respectful (C) respecting (D) respected
31. If we don’t stop ___, we will never meet the deadline.

(A) procrastinate (B) procrastinator (C) procrastinating (D) procrastinates
32.The ___ could have been prevented if the correct safety procedures were followed.

(A) blaze (B) blazes (C) blazing (D) blazed
33. The nicest scenic areais ___the reservoir.

(A) at (B) on (©)in (D) of
34. The government’s new ___ plan is designed to increase industrial output and raise incomes.

(A) awful (B) plastic (C) floating (D) economic
35. Since setting up a task force, the issue ___.

(A) can resolve (B) is resolving (C) was resolved (D) has been resolved
36. During peak periods, we experience a surge in ___.

(A) area (B) volume (C) height (D) weight
37. The new facility is intended to provide employment for local ___.

(A) speakers (B) buffaloes (C) villagers (D) interviews
38. Despite his extensive ___, Paul lacked vital skills.

(A) collar (B) college (C) education (D) entertainment
39. Using ___ will help you avoid embarrassing spills at business lunches.

(A) customs (B) napkins (C) museums (D) relatives
40. Sandy isa____ competitor. She always wants to win.

(A) mad (B) born (C) fast (D) dry
41. Tania is working her way up the corporate ___.

(A) theater (B) heater (C) raider (D) ladder
42. | believe he is having a(n) ___ reaction to the peanuts. Please call 119.

(A) personal (B) allergic (C) nervous (D) confused
43.1I’d love another ___ of that pie.

(A) fraction (B) whole (C) slice (D) part
44, \We will need to ____the system, but then everything should work well.

(A) solo (B) tweak (C) count (D) busk
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45, The small __ was damaged by the waves.

(D) digit

(D) verbalized
(D) momentum
(D) errand

(D) shocking
(D) automating

(D) behavior

(D) plateau
(D) parliaments

(D) cradled

(A) fate (B) craft (C) fee
46. This examination will be ___ of several sections.
(A) inquired (B) revolved (C) comprised
47. These slippery tiles are a serious ___to the public when it rains.
(A) allure (B) hazard (C) reptile
48.Inour ___ to become efficient, we cannot rush to conclusions.
(A) cone (B) audio (C) quest
49. Many customers are ____ of that company’s poor customer service.
(A) urban (B) critical (C) offensive
50. Many businesses have been ___ jobs to countries with lower labor costs.
(A) intervening (B) outsourcing (C) networking
51. We should be careful to avoid ___ that may cause offense.
(A) person (B) search (C) capital
52.Ben’s ___ininformation systems might be useful in his new job.
(A) expertise (B) comedian (C) transportation
53. The ___ of all ten countries will need to approve of the deal.
(A) reservations (B) strangers (C) stadiums
54. 1 wrote three tests and completed an interview before being .
(A) selected (B) rhymed (C) gossiped
55. It took three rounds of __ to come up with a contract.
(A) surroundings (B) negotiations (C) responsibilities
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(D) loudspeakers



